{’ ////

s ) ) 4 Do 70 7
’ 7 /// ) @
T BN /
/4 i / 7

Model No. NVR375

Numatic,  International, Chard, Somerset, TA20 288,
Tel: 01460 68480 Fax: 01460 68560
Sales ~ Tel: 01460 68600 Fax: 01460 68458

23165
‘ DRANINGEXP2T8 15503
21/10/97




MODEL No. NVR375

SPARE PARTS

POS. RART No  DEBCRIPTION POS. PART No  DESCRIPTION
1] 22120 Handle 21 | 220500 | Mains Cable (C.S.A. Plug)
2| 22799INR | Cover — Red Numatic Logo 220056 | Mains Cable (No Plug)
22799INB | Cover - Blue Numatic Logo 299038 Mains Cable (Australian Plug)
22799ING | Cover - Green Numatic Logo 220465 Mains Cable (15 Amp Plug)
22799INY | Cover - Yellow Numatic Logo 220234 Mains Cable (Swiss Plug)
227991NBL | Cover — Black Numatic Logo 22 | 220286 Racker Switch
2279931NBR | Cover — Brown Numatic Logo 23 | 220130 P.T.0. Socket
3 | 221130 Knob 24 | 220170 Suppressor Assembly (For 230V Only)
4| 227133 Cable Reel Cover 320300 Brown Link Wire (110,/120V Only)
227180 Cable Reel Cover (C.SA Spec) 320301 Blue Link Wire (110/120V Only)
5 | 219005 M5 Form G Steel Washer 25 | 202070 Top Motor Gasket
6 | 219101 No8 x 1/2" Plastite Screw 26 | 219566 M4 x 6mm Long Taptite Sems Screw
7| 22132 Cable Reel Moulding & Contacts 27 | 219244 Overload Clip Only
221175 Cable Reel Moulding & Contacts (C.S.A. Spec) 28 | 220258 230V Overload Assembly (Items:27 & 28)
220988 Contacts Kit 220259 110/120V Overload Assembly (C/W Clip)
8 | 2214 Inner Contact Ring 29 | 205032 230V Motor
9 | 22142 Outer Contact Ring 205034 110,/120V Motor
10 | 320366 Blue Link Wire 30 | 202069 Bottom Motor Gasket
11 ] 320365 Brown Link Wire 31| 227110 Bottom Motor Housing
12| 2271107 Infill Moulding 32 | 227115 Moulded Toggle
227181 Infill Moulding (C.S.A. Spec) 33 | 219104 No8 x 1" Long Plostite Screw
13 | 22131 Roller 40 | 209050 Filter Grid
14 | 219041 No8 x 3/4" Plastite Screw 41 | 207102 White Filter & Gasket
15 | 227129 Top Motor Housing C/W Items:8 & 9 50 | 227004 Bog Connector
22177 Top Motor Housing C/W Items:8 & 9 (C.SA. Spec) 51 | 225003 Container — Red (No Face)
16 | 220183 Insulation Disc 225016 Container - Blue (No Face)
17 | 203012 Top Felt 225048 Container - Green (No Face)
18 | 203013 Side Felt 225047 | Container - Yellow (No Face)
19 | 227108 Cable Entry Moulding 225056 | Container - Black (No Face)
20 | 219090 M4 x 8mm Long Sems Screw 225067 Container — Brown (No Face)
21 | 220230 Mains Cable (UK. Plug) 52 | 204059 2" Castor
220512 Mains Cable (C.EE. Plug)




